

नॉर्थ ईस्टर्न इलेक्ट्रिक पॉवर कॉपॅरिशन लि.

(भारत सरकार का उद्यम) कार्यपालक निदेशक (आईटी) का कार्यालय



A GOVT. OF INDIA ENTERPRISE
OFFICE OF THE EXECUTIVE DIRECTOR (IT)



No: NEEPCO/IT/VC/40/2018-19/313

Date: 28.08.2018

To, Godrej & Boyce Mfg. Co. Ltd., Interio Division-AV Solution, Basundra Enclave, Dr. B. K. Kakoti Road, Ulubari, Guwahati-781007

Kind Attn.: Mr. Tirthankar Dutta., Associate Manager (Service)

Subject: Letter of Intent for Award of Contract for Maintenance Contract of Video Conferencing System for a period of 2 (two) years.

Ref: 1. NIB No: 10 dated 26.04.2018

Sir,

Please find enclosed herewith the copy of online LOI No: NEEPCO/IT/40/2018-19/312 dated 28.08.2018 for Maintenance Contract of Video Conferencing System for a period of 2 (two) years for your information and necessary action.

Thanking you.

Dy. General Manager (IT

कारपोरेट कार्यालय : ब्रुकलैंड कंपाउंड,लोअर न्यू कॉलोनी,शिलांग- 793003 Corporate Office: Brookland Compound, Lower New Colony, Shillong- 793 003 फोन नं./Phone no. 0364-2211736, वेबसाइट/Website: www.neepco.co.in

ई-मेल/e-mail: itshillong@neepco.co.in

Domain:

neepco.abcprocure.com

Parent department:

North Eastern Electric Power Corporation Limited - NEEPCO



View APO/LOI

APO/LOI details

APO/LOI Id

698

APO/LOI Number

: NEEPCO/IT/40/2018-19/312

Department

: Information Technology - Shillong

Subject

 Maintenance Contract of Video Conferencing System for a period of 2 (two) years.

Company Name

: GODREJ & BOYCE MFG. CO. LTD

Company Address

: guwahati

Delivery Schedule

: 01/09/2018 to 31/08/2020

: As per Annexure-I

Contract value(INR)

6275948.00

APO/LOI Ack. period

: 31/08/2018 17:30:00

Commen

Form Details

Sr.No

Form Name

Price Bid

SI No	Item Description	Qty	Unit Price (INR) without tax	Total Price (without Tax)	GST %	GST amount (INR)	Total Amount for 1 (one) Year (INR)	Total Amount for 2 (two) years	Total Amount for 2 (two) years in words	Allocated Quantity	Revised Amount
1	1 year maintenance cost	1	550000	550000.00	18	99000.00	649000.00	1298000.00	TWELVE LAKH NINETY-EIGHT	1.00	1298000.00



	for Polycom RMX 2000								THOUSAND		
2	1 year maintenance cost for Polycom HDX 6000	12	40000	480000.00	18	86400.00	566400.00	1132800.00	ELEVEN LAKH THIRTY-TWO THOUSAND EIGHT HUNDRED	12.00	1132800.00
3	1 year maintenance cost for Polycom HDX 7000	3	60000	180000.00	18	32400.00	212400.00	424800.00	FOUR LAKH TWENTY-FOUR THOUSAND EIGHT HUNDRED	3.00	424800.00
4	1 year maintenance cost for Polycom RSS 4000	1	200000	200000.00	18	36000.00	236000.00	472000.00	FOUR LAKH SEVENTY-TWO THOUSAND	1.00	472000.00
5	1 year maintenance cost for Polycom HDX 4002	1	47000	47000.00	18	8460.00	55460.00	110920.00	ONE LAKH TEN THOUSAND NINE HUNDRED and TWENTY	1.00	110920.00
6	1 year maintenance cost for Sony IPELA IP Camera	12	5000	60000.00	18	10800.00	70800.00	141600.00	ONE LAKH FORTY-ONE THOUSAND SIX HUNDRED	12.00	141600.00
7	1 year maintenance cost for High Mast	12	25000	300000.00	18	54000.00	354000.00	708000.00	SEVEN LAKH EIGHT THOUSAND	12.00	708000.00
8	1 year maintenance cost for DS System, Orion, 6 KVA reduntant UPS with 4 Hours backup	14	4000	56000.00	18	10080.00	66080.00	132160.00	ONE LAKH THIRTY-TWO THOUSAND ONE HUNDRED and SIXTY	14.00	132160.00
9	1 year maintenance cost for DS System,	1	4000	4000.00	18	720.00	4720.00	9440.00	NINE THOUSAND FOUR HUNDRED and FORTY	1.00	9440.00



	Orion, 10 KVA redundant UPS 60 Minutes backup										
10	1 year maintenance cost for Polycom HDX 4000	4	45000	180000.00	18	32400.00	212400.00	424800.00	FOUR LAKH TWENTY-FOUR THOUSAND EIGHT HUNDRED	4.00	424800.00
11	1 year maintenance cost for KRAMER Ceiling speakers	6	800	4800.00	18	864.00	5664.00	11328.00	ELEVEN THOUSAND THREE HUNDRED and TWENTY-EIGHT	6.00	11328.00
12	1 year maintenance cost for KRAMER Stereo Power Amplifier	1	2000	2000.00	18	360.00	2360.00	4720.00	FOUR THOUSAND SEVEN HUNDRED and TWENTY	1.00	4720.00
13	1 year maintenance cost for CROWN Mini Boundary Microphones	6	800	4800.00	18	864.00	5664.00	11328.00	ELEVEN THOUSAND THREE HUNDRED and TWENTY-EIGHT	6.00	11328.00
14	1 year maintenance cost for KRAMER Audio mixers	1,	-5000	5000.00	18	900.00	5900.00	11800.00	ELEVEN THOUSAND EIGHT HUNDRED	1.00	11800.00
15	1 year maintenance cost for Samsung 46" LCD displays	16	4000	64000.00	18	11520.00	75520.00	151040.00	ONE LAKH FIFTY-ONE THOUSAND and FORTY	16.00	151040.00
16	1 year maintenance cost for Qumo hite vision Interactive LCD Panel	1	5000	5000.00	18	900.00	5900.00	11800.00	ELEVEN THOUSAND EIGHT HUNDRED	1.00	11800.00
17	1 year maintenance cost for KRAMER Matrix switcher	1	10000	10000.00	18	1800.00	11800.00	23600.00	TWENTY-THREE THOUSAND SIX HUNDRED	1.00	23600.00



18	1 year maintenance cost for Cables and Connectors	1	20000	20000.00	18	3600.00	23600.00	47200.00	FORTY-SEVEN THOUSAND TWO HUNDRED	1.00	47200.00
19	1 year maintenance cost for Cable Cubby	1	700	700.00	18	126.00	826.00	1652.00	ONE THOUSAND SIX HUNDRED and FIFTY-TWO	1.00	1652.00
20	1 year maintenance cost for Vaddio Quick connect,HD-18 Document camera Ceiling Mounted	1	6000	6000.00	18	1080.00	7080.00	14160.00	FOURTEEN THOUSAND ONE HUNDRED and SIXTY	1.00	14160.00
21	1 year maintenance cost for Lutron Lighting control system	1	7000	7000.00	18	1260.00	8260.00	16520.00	SIXTEEN THOUSAND FIVE HUNDRED and TWENTY	1.00	16520.00
22	1 year maintenance cost for AMX Touch control system	1	10000	10000.00	18	1800.00	11800.00	23600.00	TWENTY-THREE THOUSAND SIX HUNDRED	1.00	23600.00
23	1 year maintenance cost for VALRACK Network Rack	1	2000	2000.00	18	360.00	2360.00	4720.00	FOUR THOUSAND SEVEN HUNDRED and TWENTY	1.00	4720.00
24	1 year maintenance cost for Carrier Air-Conditioning of the VC room with 2Tr Cassette Type AC unit	2	5000	10000.00	18	1800.00	11800.00	23600.00	TWENTY-THREE THOUSAND SIX HUNDRED	2.00	23600.00
25	1 year maintenance cost for Carrier Air-Conditioning of the VC room with 1Tr Ductable split type AC unit	1	5000	5000.00	18	900.00	5900.00	11800.00	ELEVEN THOUSAND EIGHT HUNDRED	1.00	11800.00



26	1 year maintenance cost for Polycom VBP 7301	1	100000	100000.00	18	18000.00	118000.00	236000.00	TWO LAKH THIRTY-SIX THOUSAND	1.00	236000.00
27	1 year maintenance cost for HP Procurve Switch	21	1000	21000.00	18	3780.00	24780.00	49560.00	FORTY-NINE THOUSAND FIVE HUNDRED and SIXTY	21.00	49560.00
28	1 year maintenance cost for Alvarion/Cambium Radio devices	5	5000	25000.00	18	4500.00	29500.00	59000.00	FIFTY-NINE THOUSAND	5.00	59000.00
29	1 year manpower cost	1	300000	300000.00	18	54000.00	354000.00	708000.00	SEVEN LAKH EIGHT THOUSAND	1.00	708000.00
								6275948.00			6275948.00

Ack. Status

: Pending

Bank Guarantee Details:

PBG Amount (In Rs.)

PBG Amount (In %)

Comment

Download document

Sr. No.	Document name	Document brief	Size (in MB)	Date and time	Status
1	Annexure-I.pdf	Terms n Conditions	1.056	28/08/2018 14:56:21	Approved



TERMS AND CONDITIONS

1.0 SCOPE:

The brief scope of work is to provide onsite Maintenance Services of Video Conferencing (VC) equipment at 16 locations of NEEPCO for a period of 2 (two) years. The Maintenance Service shall be On site, Comprehensive and Back to Back support from OEM(s) of the equipment and shall include Software updates and upgrades at no cost to NEEPCO. The detailed scope of the work shall be as per Clause 1.0, Sec-IV of the bid document.

2.0 CONTRACT VALUE:

The total contract value for the entire scope of work shall be INR 62,75,948.00 (Rupees Sixtytwo lacs seventy-five thousand nine hundred and forty-eight) only inclusive of GST. The price shall remain FIRM and fixed till the completion of Contract Period and shall not be subject to price variation. However, GST shall be paid as per actual at prevailing rate at the time of billing.

3.0 PERIOD OF CONTRACT:

The entire Contract shall be valid for a period of 2 (two) years effective from 01/09/2018.

4.0 CONTRACT PERFORMANCE GUARANTEE:

Within 15 (fifteen) days from the date of issue of Letter of Intent, the Successful Bidder shall furnish a Bank Guarantee in prescribed format given in the bid document, for an amount equal to 10 (ten) percent of the Contract value by way of Guarantee for the due and faithful performance of the Contract.

5.0 PAYMENT TERMS:

Payments shall be made proportionately quarterly on area basis on submission of invoice in triplicate for verification.

6.0 OTHER TERMS & CONDITIONS:

All other terms & conditions shall be governed by the stipulations of the Notice Inviting Tender and as per the terms & conditions stipulated in the bid document.

7.0 The contractor shall give unconditional acceptance of the LOI within 3 (three) days from the date of issue of the LOI.

